03099 B LI E T4 BR

Rost| P G
frei
STAINLESS STEEL *j‘*sl' :
T 1.4305,

I
S TR Mk REFLALE,

BR:

FRESEHAETNETEE—ERHNTE. FRER180°TRES
=,

ERF L ERERIEFWAIUEREZMNE,

—
N ) o
SW
~J 2 -
v“:_ R
puz |
D1
S T ——

B1

© norelem www.norelem.com




03099_B M HEARALE 454 BR

03099-1050410 B | 4 M10 10 38 125|120 9 3 |6 | 17 1 8 14
03099-1050510 B | 5 M10 10 38 25|20 9 3 16| 17 1,3 8 14
03099-1050610 B |6 M10 10 38 25|20 9 3 |6 | 17 1,8 8 14
03099-10504101 B | 4 M10x1 10 38 25|20 9 3 |6 | 17 1 8 14
03099-10505101 B |5 M10x1 10 38 25|20 9 3 | 6| 17 1,3 8 14
03099-10506101 B |6 M10x1 10 38 125|120 9 3 |6 | 17 1,8 8 14
03099-1050512 B | 5 M12 12 46,8 |30|25| 108 [ 36| 8 | 19 1,3 8 15
03099-1050612 B |6 M12 12 46,8 |30|25| 108 | 36| 8 | 19 1,8 8 15
03099-1050812 B |8 M12 12 46,8 |30|25| 108 [ 36| 8 | 19 2,3 8 15
03099-10505121 B |5 M12x1,5 12 46,8 |30|25| 108 | 36| 8 | 19 1,3 8 15
03099-10506121 B |6 M12x1,5 12 46,8 |30|25| 108 | 36| 8 | 19 1,8 8 15
03099-10508121 B |8 M12x1,5 12 46,8 |30|25| 108 [ 36| 8 | 19 2,3 8 15
03099-1050616 B |6 M16 16 604 |40|32| 144 | 48 |10 24 1,8 15 35
03099-1050816 B |8 M16 16 604 |40|32| 144 | 48 |10 24 2,3 15 35
03099-1051016 B |10 M16 16 604 |[40|32| 144 |48 |10| 24 2,8 15 35
03099-10506161 B |6 M16x1,5 16 604 |40|32| 144 | 48 |10 | 24 1,8 15 35
03099-10508161 B |8 M16x1,5 16 604 |40|32| 144 | 48 |10 24 2,3 15 35
03099-10510161 B |10 M16x1,5 16 604 |40|32| 144 | 48 |10 24 2,8 15 35
03099-1050820 B |8 M20 20 70 |50(35| 18 6 | 12| 30 2,3 20 60
03099-1051020 B |10 M20 20 70 |50|35| 18 6 | 12| 30 2,8 20 60
03099-1051220 B |12 M20 20 70 |50|35| 18 6 | 12| 30 3 20 60
03099-10508201 B |8 M20x1,5 20 70 |50(35| 18 6 | 12| 30 2,3 20 60
03099-10510201 B |10 M20x1,5 20 70 |50|35| 18 6 | 12| 30 2,8 20 60
03099-10512201 B |12 M20x1,5 20 70 |50(35| 18 6 | 12| 30 3 20 60

© norelem www.norelem.com




